Cé.y./# 5L/¢a) Ax@nc) = 1,23} x({/,ef?nﬁ,etz)

K@)
= {/,2/3§ X 54‘3

= $ue> , @ B, Bf
B @x) = Era3x ) o (U2 x(z4)
= ?(///> S>>, 2o (2,1, (3,40

n§<s> >, &3>, 4> ,8,3), {3,4) §

= Sy, 2,45, 34> 3
The ves! of Mhe Taorew can be VW//é//Mf/ﬂf ed.f‘//y

(%) M(@_,é) e Ax(BuCY . Then ae A and be BuC,
W s ach , and beB o beC.  Now f beB, T

cab> € AxB . td f bel, Hew abse AxC,
6> e AXB or @ubse AxC. "« @5 € (AxB8)u(AxCQ
So AxBul) < (A x /3)U(57x(> o

Now d (aby e (AxB)uAxe) . Thew edlos @ibye AxB
or Cabs e Ax C.  In the firc? casce ael and beB
So acll and be BuC. Se ae fAx(Buc). fadn

te second cace acA and beC. §o 2€H and

54 Buc. Se ae /Ix(BuC), Jhus /n eher cuse

<achd ¢ A-X@’u() "
P () &) i A Nows Thal AxBu)= @xB)u@xC).

b) Lt @ibsec QxB)n(€xD), 7Then a,b> € AxB and
<abde CxD. e ae f ﬂn/é‘ég" 4/76/ ael
and bed . . ae Anl and beBnd. So
a6y e (FaC)x(Bad ) S UxB)pCrd) = @Gal)x(Bny).
Neow (X (ﬁ,é>é@n[’)x(eﬂﬂ>.7—w AebnC gand
be Bald . Su ﬂé’/}ana/afé“a )ﬂﬂﬂ/ beB angd éé.b .

So &Gb>€ AxAB &zﬂ/(ﬂ;é}écxa (An()x(&/)ﬂ) <
(AxB)a(Cxd). Hewce (AxB)n Cx0) = (AAC) x B1D) |

Hevice PxBu(Axd) < Ax BuO) .. (2)



/@

T_Ae,f_f_r‘sf 2 S@,é?f@.ﬂéééi 47«9&/%/ - 724..,__74_/.4%._Sé’/z,/{{?(ﬁﬂ.__.

O as

it rs /0;/m/// egus valen! 7o

_ (xeAv xe€) n (Y¢B v yeDd)
[ Cedn ge8) v (xeAn yel) v (xeC p yeB)V (xeC nyed) .
So we have 4 cases To consider, 7Ze/>m/ R

,4_..@14/7_KMS.(\@KS_,._.Z of fhese 4 cases.

47 lAxBl= mn

U We want /Z/m/e#af C(AxBYNn ExD) =P my//ff
AnC =g or Bnd=F Tt will su /ﬁéﬂeﬂuﬁ/am/ﬁ_. o
| Ao cont 72 po sitive.  Now = (ArC =@ v BoD=F)

| /s E_jkcffvzf,_l%nl/,,.fé., ANC AP and Brb A .
[ Se seppose InC A Y ard BN AP, Thew we can
an_elewentl ac ANl and _an elemend be Bnd, .
So @&b>e Ax B  becawse ach and beB
and (akd e CxD  becaute ael and beld,
|| fewce Cabye (AxBYNCXD) and so  AxBINCD) £
. Se a(Arc=& v 81D =g) mplies Ux8)alxd)Z 1
. (AxB)n(cxd) =g /M/{/{?f Anl=g or 8np-g

i
l -
1 :

Cht2 | (@) domain = set of all parenls will a lwing offspring
,.4392“...4/ all é/ﬁ}or{ﬂjs, w/ﬂ vﬂ/"'//f(_’j_. Mrw‘

Rl@  domain = el of all males will a [iving sibling
7’%1/76 = &efa//éo/o/e w Tk e /r'w’n7 éroﬂer,
(é) Ao main = R ,  TANgE = /f€+; (0, 0)
b)) Adomain = C—v_aO,"I]‘U [f, oo) ) 7’a’4hf-e = (—-/) /)

—




Ch.4.2 4%

%

~

#

7\8( /DEZ N ié_r‘ — fFr*

A

10

4E)
R =14, 48> 2,65 {3,653
S ={uSd @) (5w &

L@  SekR {05y <6y, e, @4, 66>}

@) Ses =@y, 55>, &6

[ SeR = Faisy, Q4> , @y, (o>, G4
) R s R ECAPIRCHRD RN R CAIIRIEI I

= (Sh/o E} /

(@) TRUE — let by e R, Then ae dom(R) and
be ran(R) . So <.bd>e dom(R)x ran(f) .
Swnce This Js Truwe Ffor any <,6> €l F
follows thal R < dow (f) x zn )

) TRUE.  Let Gade R Then b>e R .

So G, b>Sed becawnse £ 8S | Heuce
,ase S lewa R/ < s

o) Let thiase ®RuS)!  Then @ibye pUS .

SO (d{é>€ /e o7 (ﬁté>€ S . j/’l /%»C /;fd"f
case (A,a‘)é,@’/ and i the second case
aSe S S (abde RS leww

Ch 434
U




Ch-H34-2

A

#@9

©) ( s S/mme,%r/c

_.._._.‘-”L/) 2 e ottt ,/e'“.‘_

Gral, bird> R (bird, dspe R but Gt degy R,

./a) R = {<4c> >, deyey <«’4> s>t

//fnof 76//&26/1/4 naf s mme/r/c " nz)/ 7/?‘19/#?!/7//09

@ €L, <4»6>é@ but (c,a)éﬂl ] (ﬂ’ a) R 1 Gy €€, éuf' (d,c)¢,e, o

) ko= f<abd caids bay (bd>)

'nofrd[&x/t/f %07/ S mmé/‘r/c MOZ/ fran.r//u/e

<ﬂ/a> 6’(2 o (a/d)é‘fz 5%2’ a>¢/€z / ” (4 ,é> C(z_ A(ﬁ/ ﬂ) e ZZ A(/tl‘ (ﬂ/ﬂ)¢'€2 "

@ #s =faas b5, 4,45, o), b5, s

N Y -

Wb Ry faw, @, ad G, ady

Y ——

vellexive, symmebric | frapsifwe

mof re/@(u/e a«mz‘ Sy mme/'r/c ; 7“7%/?:///'V€ .

W (a5 ¢ Re | s Ry butGaydly, .




4G

Cho43ys) SoR =1 (w><4ﬂa> Lx>, oy ><c;>}

%

() Seppose R and S arerelloxiveon 8. Thew

L

Thus fﬂf wel/ be ,Vf//v.%f/l/e

13

0 phe e fuS, so  RuS will be seflexive

e

- L ~ . .
@ _ Now ¢4 = Lyoly S RoS , So  RoS wie //

12

@) also be 7eflexive | Finally 4e & _’., 27 ’6//W/Vc{_._m__

e

{/ Sby)/”e /e mw/ 5 - S/mee%”c 72% S

ib>e R —» Cbiad>e R ﬂn/ (mé>€S——> {érd)é S
4@%.....(@,,@? enS Thew tab>e R and Labye S. So

RaS o S/mmefr/c

,2) |

S/M//dr//o f G bdSe eus 7%5,1 (a 4)e/e ar@we&‘
In edbier case e fcf,_<4_,_«z_¢,£us_, So VS /s

B 62/5'0 .symmefrtf

) /de Su./)/ﬂa.re_, (4, é) & fa S. Then deceh ruc/
f/w«f ,bye S and c,b>e R, ,S") (c,d)éS qn/
bexe R, ' thaye SoR . So /I seems féa/

Wl can //mz/e f/zaf (é a> € RoS. ol wus
/ﬂﬂé A? [ounferp/xﬁ%z/)/f

/Lol S =D and R=J2>, @0}, The

¥4

KeS = {(//2>} R and S are S/vmme///(
bva/ Fo S /s ma/’ S/mme/r/c,

S

b) Nenally R (< symmetie, 1 R =R, Since
&4 4

/s symm., R=R7, o RN s f ps symm,

,éA c R _and ¢ S. 50 _ly < 16/78 R

_bade R end thajeS.  So lhepe RnS,. MHewce



| AGD
KA 4.3 /\_/gl_g gm/y/ﬂo.r,f R andS sre %rnnf/'//t/e_ 71 € 1
| G, hSeER A (bicye R — (@elf  and
GibS & S n~ lthieSEeS - acde S,

Ji(¢ Suy)/afe @ibye RnS s licede& ParS. Then @ibse R and
G,edSe B. So CwcyeR. Also tbse S and deyeS . $
@,cSeS. . GecyeknS So RaS will he 74/’4/15'///1/8.

/3((:1"):% Let R= YR and S ={C3%} . Tltw R and S avre

| ransitive. Bud Pus :;(AZ) ,(2,3)} ’s mal

Fransctive becoure hede RvS and (2,3> € RuS
but &35 ¢ RvS

/2(6]5 S‘oy/ayé ("c'.'}ﬁ)é A"///m/ ba)e f—/, Tl e n
N@ib>e R and PB,cd>e R . So icye B becawse
|\ R 7s Fransitive. Hewce (c,2) éfn/, 55 <<:‘,é)6£4
| cnd &,ade e’ /m///?.r‘ ((,4)6—16',/ S R is Fransifeve

16 (c

——

Finally let S =[Gy2> | 845} and R =535 4,5}
" We can Sien check Thal S and R are
Fransitive . Also KeS = {(//-5>, <3,'5—>}‘ 'So“‘RoS
| rs noZl'%rans///i/e beca nce (e3> kleS amnd (3,5‘)5
| Res bul (1,55 ¢ RS, Hewce f R and S are
:; Frans/F, ve , i does nol Sfollow ol RoS 15 transitive,
K #/6, Suppose Rand 8 are yelations. Bove or give a wm#ﬂm/M//p
j[64) F Roand S are Ve//Z/X/‘Ve, musl RoS also be reflboxive
::%) // /e 0{;'20/3 X V€ symme/r/c) MM.S‘ZL Ko S oi/?o /e S)//’nme/i’/"'
e) /F R and S are frzm:/f/‘vf) pust RoS alse be fransitrve,




/@

Ry =¢8>, o>, <2y .0, Dl

Ks = §A0%, 4,25, 2.0 ,.2), 13, 6. l> (2 3> <3 2> <3 3‘7}

(g() /Q )s an eiu /Vﬂ/ené‘e L= /617[/”"’

I Cpox sel of all words begirming wl ‘a’

(74

willl hé

[}
! \

_Cz = Sel ZL "

7&.6 &%Mlu’ﬁ/eé’lfé ) C/&tSféf aré Cﬂ/ _('é, " C"z

Bl (€) T s _an _equly. re/a;‘wn |

f(n _’z

@) SA /S _ ’}'MZ/'_ an ?71/1/(/02/&%(6 n/&/ot//rm ée’ carule S

/7MZl <70 alL> ¢ S S

_relalion .
ﬂm/ frcm r/// ve | /Z.e ezuu/ﬂ/énce c/ar:.rés are

an ézuﬂfﬂ/é/mce C/arr — éadl Somée d/ /é‘ére w///
|| colncide . For Wﬂm/?_/@._,

Cgpt—=Cgy = C o .

Cho e b# P (8 3, 33Y Re§Y {233} Re{fed 033}

Pe={ 33, 231 hee§ 12,33}, Mofe each B relubed
fo_the correspording eguiv. relplion Ki below, (=4..y8).

,@.§<H> L2, B Ry 2§D 2,2, &), 5,20,6300
Ry =042:2>, Uad, i3y, Bl (23> e

_Cp = %ZL ek 6

[

5}1 = wm/f mﬁ_ ” /97"03
/s %df 7(1’417!/74/ ve . <70 oy € S M&( (LLd ﬂl%éf

@) R /s wofan ezuu/ re/a//on éezﬂm‘e /f /s wof symme/r/(‘

) S = (x> e Rx R xveQ] is an eguvalesce
Verify thal R 75 _rellexive, spmmelric

Gefurg: ge @1 for eack xeR, G wilbe



4G
Choue 24 (c) T={Gneckxk : (Fne2)(y==1")]

For each xeR , % = x.00° . So Guz>eR
for ecach xeR . . T i reflexee
Sof/a:e x,y>e T . Then (3;«&2) (y: z"./o”),
Se = = y./-o‘“” ‘ Wi ce Yexye T . Ko

T (s Symmefr/"c.

SL.//O.% X.vye 7 and ly.2YeT. Thew (Inel)
(y:z./o”) and (5%52)(}-‘—\7-/0/‘) . So
3 = g./o/‘ = Ge. 10") w0k = =x. 107 flewce
(x 3% € 7 . So T ;s Franslive.

7 s oan €ZM fvalenice relalion

led Cy = {x. 10"« neZ}, Then for eack xek
Cx il bhe an eﬂw‘wz/&m@; el ss . Some of Fhese
clasces w:// cowmeide .  for Mﬂm//e

<, = C/O = Ly = C///o y = Cf//oo — C}//oao

Ciz = Cpi = Govz = Cvegro = Cfzjfowo .

8 Su//)asa R snd S are eZ wivalence 4’6,/&;«2[1}11/15"
§! Then R and S are bofh reflexive , g/mme_/ﬂhc
ﬂﬂ/ 7‘)’&?&’15"/7(((‘/{"

YA  From Problews 4.39127/6, 1 Sollwss Had RaS
NEY/4 éc zre,//e/,(/"z/é/ _g'/umme///c £ /ramr/’"//’z/e.
So RAS will be an ZZMde/énce ve ladso n
27.f2) RvS wsil] nol a/waz/v: be an efaf'y, yelatssm
becciuwse RuS wé'// nol ﬁ/m/ﬂ/i‘ be %rﬂns-///’ue,

235{;’@,) Keof ws nof ﬂA«Vﬂ/J‘ be ot ézu/v. e dntion
' éé,c‘ﬂu.re ReS W/// nalL éz/way_f be Symm. or trans.




A3
Ch-te#lp (a) det KeZ, Then X—X = 0=0m So

1 Sm//:wf &, y>Se Cm.  Then (FheZ) such
_ fRaee XD € Cp.  So G is symmet.
_T? woas &t/?’é’ﬂ/} Shown _on. pe 22 That

D ECy  and Y EYECm (mplies K, 2)ely.

So Cn /S also Fran f//’”’ | #Ww O e

_an_ cqu fvalevce velation.

(6) C, +  [v], = f2k: keZ§ and
DI, = fakw keZ are We equiv. daswes

and  (2]s = S3kt2 . kel .44(6_,.’/4.4'..?;144'/1 c/ﬂm’r
Km . W/// /“?Ve - éZ“’V @/dff‘f:— Z—b]m} ”)E”'Um .

Thew Ly, 1y RS Also )R and (,2)e R

mplees (x,25e R - o afss et o

W Se znc kR Mewco RART /s geflexive.
| Ao if @y>eR! and (r,x0e 8, Then &y>eR

M@ Suppse fhod R isatunsitive , rellexive relation oA

, Cand (8SeR . So (X,35€R pecause R js Fransifive

7 s Fransibive

Thus g, xpe R, Hence £ I
- From  Probleen 4.3 # 7 (), [ pless Thal Rne™ s
1l also 7‘/’&//7:/‘7{/‘4/é, /:/mﬂ//y :07/;&?2 (x,y}e r(’ﬂf-/, 7leen

K Y>ER and.y>e R So &ixdel™ andlyx>el”) '=£
Hence G.x>e RPAR So RPal'is S)/mn?. . RAR 1ran E.P.




ch. 5.0
l

BN

?i:\(fo 9) () = £ g 0)

| @a/)CX> = 7 (/[x))

— =

| &9

| (a) YEs, @ vo,  (ipef &§,Def bud z#3. @) YES,

) (@) NO |, - (Gwed)(<dwy et) _

b) £ s ol 4 fonclion (90, 9) & (?0)0>67[ bt g#0 .
g IS a Ancf/am ﬁom W o A.

(¢) ‘/55/ R /s « /Z«ncf/“on /zram P 1o F

t3 0 f@ =154, F8-4, f@=4
| ) H{Italy) = Pome

| ) F(2)= 2%2) =0

| @) FULY) = §1.2,3)-§,3] = f23

LeH = /d’én/ﬂﬁa ;4/1[.
(«) LoH ¢ N =N (LO/'/) (a, c‘aunfry> =The Same aunff}’

@) /71°L5 C -)C‘ wOL) (,62 C-//y) = Ca/o//a/d# /ée coan/ry
i which theal cr?l}/ /s locale

(2x-1)*+2 #X 54X +3

} QL‘[‘2~> (X7'£2> XZ._/.Z

4) 2,4 /s c/eazr/y an eZM/wz/eMce 7’6//!/[/2)” bé c auese /%dv

reflexive , S/vmme/r/‘c and Fransdive. Ly v also
a Funchon becaese (Yaed) (F! be A)(<abse iy )
7Ae umffu.e b /s /‘u:f a

:’5) 5’070/09"6 £ /s aun efu/VaZemze relndion on A whick

/s a Ainction . Then ly € R becaure L Js yetlexive

Now i R #lnq o _‘;..f\,(\.?]o-,}.'/‘})( :‘Me“/() (a#6 r (a,é>é/€>_
So ca,adeR and caby)e R . So R won'l pe a2 Fanction,
Heuce (g is e omly equiv. relatoon on A which /S a Fune len.




5 @) Supose {00 = F4) . Then X+ o yH

- : X-I +2 _ Y-l +z ' ’
] So = = AN R
. R 2 t X _—:_Y- .’ X=Y
X~ Y=/
MHence iF 7‘00() = /{)’) “Hen x=Y S LIS one~tsane
lel beR-513  Take X=_ (br1)/(b-1) Then
foy= 227 - - )b b1 R
btl 1 b - "G -6-1)
= 2b —_ b
== B
) ) = FlFo) = £ (E=Y
,,,,,,,,,,, x;_/l S SSSE—————_ T—— T RT | S——
ey }
SR, Pi— 2
EL)o) = x . o F= ¢
Wlle) £2) = T9eR: vP<2} - (v3, )
- A) f / S no lL one -fa —one be, cause /(o) f(—/)
fo) =igeR: vcot=¢  FED={yer: y< f=B.
@) F is nel onfo because There s 7o Xe R such

e y—
€

W -~

¢

/

b A2, i) = BabuBel = e
1(6) "nof one-fo-one, 7[({[/ 2}}) - /ér{/ {z}}) ;,2}

3 anzt_o. Lel )’6/) Jake X= §Y58 Then /(X)’)/




/) ier

6%6’.2#\%@() Fe A8 and 9: B-5C Soyfase £ s onto

N
- 0 s

(3|
106

and g /s nol one ~lo-one . The we can Ffmd
é,) b, € B swch WMol j(b,) = ?(éz) and b # 4,
Since £ /s owfa, i menm foaid a,, 4, & H Such
that Fla) = b, and f@,)=b,  HAlso because
£ s a 7£tmcf/brz and b, qééz/ d, #a, . So
(FeF)@) = g(f@y) = 94 = gb) = GoF)(as).
Swce g, #a, ot PNows Thal fo/ /s wal  one -t -one.

é) _S'\oy/)o.?e £ s 2107 on Zéo an/j /< 4716—7%-:7145. Then
we can pnd an elewmenl beB such Thal Hae

(s no ael wilh F@)=b. lel ¢ = g). Tlen
fhere r's no elewment b'e B-§6] such That }(é’) =C,
721/‘5‘ /s fecawre j /s aﬂe-fa-—amé, From his
;f ﬁ//awr Thaod Here 7S wo .e/emenf aep such
fliat Cya/)@) = ¢ — because Thu m// way for

ws howve ﬁ[/@)) =c /5 7ér 7[257) Fo be b,
Bt fhere is yo such a . Heuc fo/ /s nol anty

2 /£ £ is one-to-one , e n
Wa,eA)(Varseh) [a, #a, - Ha)# Fo)]
Sinece C < A , This fWL/://?s Thal

(Va,ec) (Va,ec) [ a,¢a. » #a)# fae) |
. LIC wid! also be one -To - one.

) /£ SN s onte, Hhen (VbeB)(Jael) [f@>=4]

Stnce CEA, it ol fows Thal d/éég)@’r’aé/?) [/(ﬂ):él
o F sl alse be ento .

‘.) Ze—f A?//?,'/o’=/ﬁ, C = [0,00)_ PMZL // (X) S )(2 , 7[‘ rs MolZ one—/o-one

let /‘}:/,2} B=K ; C=[0,%). PM.ZL /Z(X'): X . 1!)/‘6 /s ﬂoZl onto




Ch.5.3 4

() -

S wppose.. ) = Hxrd,  Then

(2xi+5)/3 = (2X2+5)/3

L4

)

Lez‘ 5 < K Al X = (33-8)2 .  Then
Loy Gxrds - (2. 33=f +5)/3

(32 e g) /3 e

; /s anll() .

)

Let y- ?éof;mm”Z@gﬁllﬁé;];;ww
@yt 6'>/s = X ), 2Yss = BX
. 2Y= 3x-5 . So Y= @Xx-6)z2

N\

@)

77

12

. 32 X / -_— 3 X z

N X =2 X2-2
‘~ 3 (XI -z> + é Pt 3 CXL"Z)'(’é ‘l‘ 3 + é - 3 + __é
- e g s — X;;..‘:ﬂ...‘-ﬁ.—..rnvv..»«..—.v...(,—.- oz e ——— .mx.zs:..zmv.—-.. b r— oy vy A e — e e ‘—.ﬁxi.:..z et rems i e v e .Xi.,:.z_._—u R
. = e Z = - i ')< —
. X 42 ypep X (m2= K-z S X=X,

/-/\"/vtr,e o 7Z / S ane — ILa -~ongé

4)

Take B = R-£3} gand [ef 3€ 5 f”a/x = 6. .2
3-3

E% eed-z

>3 A

&

W A Asa s oonls,
| ©)

£76) = [e/x-d]+z = 2X/(x-3) .

s.f6 ¢ 23-3)] . 32



Ch. §3#]

A

A ‘

. l_&:

@

v

)

(¢)

A &9
Fer)= GtD/s, b= x+7, £,60= X/s

Coofidix) = A (FC) = £ (x+7)= 1;_7=£(x)

bt = f
Lel Y= /’/(X). Then /(y)-- xX. So ié; = X
Y+7= X . So Y= &X-%

L6y = sx-7,
By mg/ecz‘/an, 276 = X7 and £ G)= &x
Se (A )x) = £ (£T®) = £ 60
= &5X -7
<{.z°7£/>ZX5= (f,—/o /;/) ) = & x-%
So we have wverihed That 7= %0;[,)-/_

//(s@ SLL/)/N& £ /s one 1o ~one  and /o = 1;3. /elL
b be an aréz_/rar/ elenen? of B Al a=;,(é)_

Then F @y = £(g30)) = ¢ 9 )= L (6) = b,
e e £ /s onto , So

Since 7[0; = /5/ i 44//0@«!2 St

£ BoA  exisls.
7['/0 C/"j) _ f--/o
(#'0#)eq = /!

7

th o g = , So ;=—f_/,

lg

) §o¢//a:€ £ s onto and f”/’:‘ 24 SWUSP
f('x,) = f(xz) . Tl en j(/(x,)) -

Se  (gef) &) = @A

j (/(Xz)) :

La (x1) = (.00 . So X=X,

WHewce f s one-to-one. Se 7[’~/-'2—9/4
M&Sz‘S. Since gd/ = Z;; : 17l 74//0‘0./& 7(454/

G of)eF =" dyot - -/
g Cr)= £ gela=Fgof



'@
Ch-S3 ) Suppose  fog = Ly and geof #ip
1 Lez‘é/)/e 5. ‘/zw‘ a=_ C/); T/Le:
(= HgE) = G )= @)= b
[ Se £ s onto. Also il £ was ome-fo-one,
W then by part @, il will Sl Thad g -7
| and so we wonld gel gt = £Tl= ey —

| o contraditon. Hewce £ M pnot be one ~75 o e,
 WNow seppise g () = g(b). Then

L) 60y Se Eepd)Gepbe
et )= i (o). fewee by =4, So

g (s one-to-one. Alss f 9 was_ onto,

| e by part @), o sl Fllow that fe g

N end fam Ahis we wonld get gt = geg=y -
| a contradiction . Hewee .;j M,m{ééé anty

Chsudl @) vEs. Lt be FWuX]. Then Tae WoX such
M fat S =6 Since ae WX, olier cel or aeX.
W Zn Ha first case  be FIW] and wmlie cecond wse
ll be AX]. So be FWIvFIX] --~ G)
W Wew _seppose be S[w]u FIXT.  Thee be (W] ar
W be £x1. Tn the Fferst case FJaeW such Thal
b= f@ . And in the second case  TJqeX swch
| fal b= f@ . So i eilher care Tae WuX
sweh thal 4 =4G). Hence b € SLWoXKT ... ()

N Brem @) 2> i Allos Bt £rwox] - Fla]u KD,

s

_/_é/)/\/[), Let —/“{’/,25—3'{3}) W=§1} and X =§25
| Then £[w-x)= f[i3] =833 #g = {33-§33= {lW]- FIx].




ot

A @)
) NO. Let £ : {125 > 143, W= {1} and X-<§23

v—/TAén £ W] = {47 and f[x]={4l , So Flwl < £Ix]

but WEX. So FflwleFlx] A WX,

CO#g@ YES. Let ae 47 [ynZ]. Then {f@ye Ynz.

N So FayeV and f@re Z. . ae £ TV and aef 7]

So ac £yIn £12]. o £lrynzle £ A £l
Now Jet ae -/w[y] nLZ] Then ae £V

f and ae /'/[Z]. So f@ye Y and f@)e Z.

C. fla)e YnE. So ae £7[YnZ].  Hewce
L7ryin #7rz1 e £ vaz]l, £ g = £ BInf TR

(A) YES . The /}W/}/#g S'/AM/"/dl" 7;%6 one n Z(a)

‘(5') YES.  The /Jmf[ ;s similar ls the one n 2@ )

\) wo . Ll £ fifo 23,43 L= 2 . Y={2.3] i

Z=92,4} . Then LT¥=511< §} = F£72] bl
Ve a3y =-2 . s. £ '[vic 7[Z]h rcz

WO, . [et Fiiu}s(8 ) )= F@) =3 . Then Tabe X =51 fCx]

/, = f ) ='{//21,:¢' X .  MNow swppose ae X . Then
| fare F{X], So ac Frroal o o Xe £ 00x7]
| Se FUOFEXI] 2 X hut X £7[H00] 17 general.

S0 Mo, Llet £ 1} $23), £W=2 and Y= 23],

| 7ten  £L47vI] = FLOIT = 23 # Y. Se

7[’[4[-/[%7] #= Y, yenera/.




